
U3A Intermediate Bridge Tournament 2016-11-18
5 Table 9 Board 9 Round Howell movement

Board > 1 2 3 4 5 6 7 8 9 Total Posn

Pair v

9 8 4 2 6 8 7 4 8 4 51 1

3 7 4 8 8 3 5 4 3 4 46 2=

6 3 4 0 8 8 1 8 7 7 46 2=

5 5 8 6 0 6 1 4 3 8 41 4

1 5 4 5 0 0 8 8 5 1 36 5

10 7 4 3 2 5 3 4 1 6 35 6

8 1 4 8 2 2 3 0 7 7 34 7

4 3 4 3 4 0 5 4 5 0 28 8

7 1 8 0 4 5 7 0 0 2 27 9

2 0 0 5 6 3 0 4 1 1 20 10



Board 1 Dlr=N Vul=None

S:JT4

H:92

D:AKT65

C:J96

S:965 S:A732

H:J H:AKQT5

D:J9 D:872

C:AQT7542 C:3

S:KQ8

H:87643

D:Q43

C:K8

3 7 4S-3 E 7 150 - 7 1

10 8 3NT-3 E 6 150 - 7 1

4 1 3H-2 E 7 100 - 3 5

6 5 3C-2 W 7 100 - 3 5

2 9 3C= W 9 - 110 0 8



Board 2 Dlr=E Vul=NS+D76

S:AJT843 One instance of this board was recorded incorrectly on the

H:962 traveller. This was not realised until typing these results up.

D:T8 The result was "Pair 2 v Pair 5" gave the points to NS.

C:T95 However because it should have been "Pair 5 v Pair 2", the

S:K96 S:75 points went to the wrong pair.

H:875 H:Q4 THIS IS WHY TRAVELLERS SHOULD BE CHECKED.

D:AK7 D:QJ654

C:KQ76 C:8432

S:Q2

H:AKJT93

D:932

C:AJ

7 6 2H+3 S 11 200 - 8 0

3 1 3H+1 N 10 170 - 4 4

4 8 2H+2 S 10 170 - 4 4

10 9 3H+1 S 10 170 - 4 4

2 5 2H+1 S 9 140 - 0 8



Board 3 Dlr=S Vul=EW

S:T3

H:K85

D:AQJ3

C:T753

S:A74 S:KJ9

H:T432 H:A9

D:5 D:KT974

C:AKQ92 C:

S:Q8652

H:QJ76

D:862

C:J

8 7 1S-1 S 6 - 50 8 0

5 9 2C= W 8 - 90 6 2

4 2 1C+2 W 9 - 110 3 5

10 1 2C+1 W 9 - 110 3 5

6 3 4C= W 10 - 130 0 8



Board 4 Dlr=W Vul=All+D116

S:J97652

H:QJ5

D:J64

C:3

S:KT4 S:A8

H:T96 H:843

D:K73 D:QT92

C:T965 C:KQ84

S:Q3

H:AK72

D:A85

C:AJ72

6 1 2NT= S 8 120 - 8 0

9 8 1H+1 S 8 110 - 6 2

7 4 2C-1 E 7 100 - 4 4

10 2 1H= S 7 80 - 2 6

5 3 3H-1 S 8 - 100 0 8



Board 5 Dlr=N Vul=NS

S:QT542

H:AT4

D:9

C:QJ74

S:96 S:KJ8

H:K9632 H:Q

D:T72 D:AKQ64

C:A62 C:T983

S:A73

H:J875

D:J853

C:K5

6 4 2S= N 8 110 - 8 0

7 2 3D-1 E 8 50 - 5 3

8 5 2D= E 8 50 - 5 3

10 3 2NT-1 W 7 50 - 5 3

1 9 2D+1 E 9 - 110 0 8



Board 6 Dlr=E Vul=EW

S:AJ986

H:Q9

D:Q

C:Q9754

S:QT42 S:K5

H:KT52 H:A874

D:9873 D:K652

C:K C:AT6

S:73

H:J63

D:AJT4

C:J832

7 5 1NT-1 E 6 100 - 7 1

9 6 2NT-1 E 7 100 - 7 1

8 3 2S-1 N 7 - 50 3 5

10 4 2S-2 N 6 - 50 3 5

2 1 2H+1 E 9 - 140 0 8



Board 7 Dlr=S Vul=All

S:Q3

H:AQT543

D:A3

C:J84

S:AJ76 S:T2

H:J9 H:K62

D:K6542 D:QJT7

C:T2 C:A953

S:K9854

H:87

D:98

C:KQ76

1 7 3H= N 9 140 - 8 0

3 2 2H= N 8 110 - 4 4

9 4 1H+1 N 8 110 - 4 4

10 5 2H= N 8 110 - 4 4

8 6 4H-1 N 9 - 100 0 8



Board 8 Dlr=W Vul=None

S:95 One instance of this board was recorded incorrectly on the

H:KJ984 traveller. This was not realised until typing these results up.

D:QJ64 The result was "Pair 4 v Pair 3" gave the points to EW..

C:KT However the score should have been entered into the NS

S:J72 S:AQT843 column.

H:QT73 H:5 THIS IS WHY TRAVELLERS SHOULD BE CHECKED.

D:K92 D:5

C:983 C:A7652

S:K6

H:A62

D:AT873

C:QJ4

9 7 3S-1 E 8 50 - 8 0

1 5 4H-2 N 8 - 100 5 3

4 3 4S-2 E 8 - 100 3 5

2 8 3S+1 E 10 - 170 1 7

10 6 1S+3 E 10 - 170 1 7



Board 9 Dlr=N Vul=EW

S:743

H:Q3

D:KT86

C:A832

S:KQT9 S:85

H:KJ82 H:974

D:2 D:J9754

C:JT64 C:975

S:AJ62

H:AT65

D:AQ3

C:KQ

5 4 3NT+1 N 10 430 - 8 0

10 7 3NT= S 9 400 - 6 2

3 9 2S+2 S 10 170 - 4 4

1 8 6NT-1 S 11 - 50 1 7

2 6 3NT-1 S 8 - 50 1 7


